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QUESTION 1

One of the organizations within a company does business in two currencies and has established a second base
currency.

What must also be defined for this organization?
A. Valid financial period

B. Second chat of account

C. Valid exchange rate for the currencies

D. Chart of account for exchange rate variances

Correct Answer: A

QUESTION 2

A company is creating a new Workflow process and wishes to allow users to pick from many options at a certain step in
the process. Which Workflow Node would accomplish this?

A. Task Node

B. Condition Node

C. Interaction Node
D. Manual Input Node

Correct Answer: A

QUESTION 3

During a Workflow Process a company wishes to display an informational message to the user.
Which Workflow Node could be used to accomplish this?

A. Task Node

B. Interaction Node

C. Subprocess Node

D. Manual Input Node

Correct Answer: B

QUESTION 4
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A user belongs to two independent security groups both granting full access to the Asset application for all Sites. One of
the security groups also has an Object restriction configured as shown below.

Which statement is correct?

A. The user will only see Assets of Type IT.

B. The user is restricted from seeing Assets of Type IT.

C. The user\\'s permissions will be based on the highest ranked security group.

D. The user will be granted the highest permission possible and will see all Assets.

Correct Answer: C

QUESTION 5

A company has tasked an administrator with ensuring traffic between Maximo and the client browser is encrypted over
the wide area network to prevent sensitive data from being intercepted.

Which is required?

A. a digital certificate for me application server

B. a digital certificate for the client browser for authentication

C. "Encrypt SSL communications” options enabled in the System Properties application

D. a bus security role called "maximousers" defined within WebSphere Application Server console

Correct Answer: B
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